Sieve of Eratosthenes

Please enter an upper bound:
1000

0002 0003 0005 0007 0011 0013
0059 0061 0067 0071 0073 0079
0137 0139 0149 0151 0157 0163
0227 0229 0233 0239 0241 0251
0313 0317 0331 0337 0347 0349
0419 0421 0431 0433 0439 0443
0509 0521 0523 0541 0547 0557
0617 0619 0631 0641 0643 0647
0727 0733 0739 0743 0751 0757
0829 0839 0853 0857 0859 0863
0947 0953 0967 0971 0977 0983

import java.util.Scanner;

import java.text.DecimalFormat;

public class Sieve {

public static void main(String[] args){

// This main method needs additions for the 100 point

version.
System.out.println("\nSieve of Eratosthenes\n");
Scanner scan= new Scanner(System.in);
System.out.println("Please enter an upper bound: ");
int number=scan.nextInt();

boolean[] primes = computePrimes(number); // Upper
bound of 100

}

displayPrimes(primes);

public static boolean[] computePrimes(int upperBound){
// This method will compute the prime numbers
boolean[] primeArray = new boolean[upperBound+1];
for (int i=2; i<upperBound+1l;i++) {
primeArray[il=true;
}

for (int i=2; i<Math.pow(upperBound, 0.5);i++) {
if (primeArrayl[i]) {
for (int j=2; ixj<=upperBound;j++) {
primeArray[ixj]=false;
}

}
by

return primeArray;



public static void displayPrimes(boolean[] primeArray)<{
// This method will display the prime numbers
DecimalFormat df= new DecimalFormat('0000");
String primeValues=new String();
int count=0;

for (int i=2; i<primeArray.length;i++) {
if (primeArray[il==true) {
if (count%16==0) {

primeValues=primeValues.concat("\n");

primeValues=primeValues.concat(df.format(i)+" ");
count++;
}

}

System.out.println(primeValues);



